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'PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best campferas each

10-

11-
12-
13-
14-
15-

| Directions: Read the following passage and decide which choice (1), (2), (3), o (4)
| best fits each space. Then mark the correct choice on your answer sheet.

sentence. Then mark the correct choice on your answer sheet.

The book was - by a panel of experts, working in conjunction with the publisher.
1) revealed - 2) compiled 3) intervened 4) attributed

In Canada, drug users belong to high-risk insurance ------—-- ; ' '

1) entities 2) features 3) categories 4) structures

The victim was able to give the police an -~—--- -— description of her attacker.

1) accurate 2) ultimate 3) identical . 4) equivalent
The government passed a law to promote the -—---——-— of blacks into white South African
society. % ' '
1) integration 2) foundation 3) coordination 4) adaptation
Small businesses often have great difficulty in - credit from banks.

1) detecting . 2) obtaining 3) pursuing 4) depositing
Feminists say that the book was written from a male ~~—-——---, -

1) objective 2) inspection 3) perspective 4) presumption
Violence is just one of the many problems -——---—-- in city life. |

1) explicit 2) empirical 3) available - 4) inherent

Legal requirements state that working hours must not ---—---— 42 hours a week.

1) assign - 2) exceed ~ 3) utilize _ 4) undertake

The Highways Department is responsible for the construction and --———-- of bridges and
roads.

1) equipment 2) adj ustment 3) manipulation 4) maintenance
Mazxwell’s responsibilities —-- yours, so you will be sharing some of the work.
)overlap 2) affect 3) identify 4) coincide

Since water is the basis of life, (11) ---—----- the greater part of the tissues of all living things, the

crucial problem of desert animals is to survive in a world (12) —-------- sources of flowing water are
rare. And since man’s inexorable necessity (13) ---------- large quantities of water at frequent

intervals, (14) ---------- comprehend that many creatures of the desert pass their entire lives (15) —-
------ a single drop. |

1) composes 2) composing 3) it composes 4) that composing
1) which 2) that 3) there 4) where

1) is to absorb 2) of absorbing 3) that is to absorb 4) is absorbing

1) scarcely he can 2) he scarce can 3) he can scarcely 4) scarce can he

1) for . 2) from 3) upon 4) without



Part C, Reading Comprehension

Directions: Read the following five passages and choose the best choice (1), (2), (3), or (4). Then
mark in on your answer sheet.

16.

17.

18.

19.

PASSAGE I:

andling and fransporting crude oils and heavy

fuels is difficult at temperatures below their

wax appearance point, or pour point. Often,
chemical additives known as pour point depressants are
used for économic, environmental or practical reasons.
To choose the optimum additive, laboratory studies
that simulate field conditions are necessary. More
gpecifically, it is important to study the treatment tem-
perature effect and the treatment residence time effect
when choosing the best additive to depress the pour
point of specific crude oils and heavy fuels.

Chemicals are added to crude oils and heavy fuel to -

1) increase the pour point 2) complicate handling and transporting

3) decrease the wax appearance point 4) bring the temperature below pour point.
According to the passage which of the following must be done if we want to choose the best
additive?

1) Carry field studies.

2) Carry laboratory studies in the field.

3) Investigate the treatment temperature effects.

4) Do experiments with specific crude oils and heavy fuels.

PASSAGEIL:

11 hydrocarbon processing plants should be con-

cerned first with employee safety and second

with the waste of plant assets. While safety
procedures are practiced to prevent injuries and acci-
dents, loss control is any activity performed to reduce
or prevent avoidable waste. Loss control, however,
also includes control of health and occupational ill-
nesses, property damage, fire and explosions.

Both safety and loss control are critical parts of every
manager’s job. Equipment failures and environmen-
tal spills can be described with facts and figures, but
obviously there is no simple way fo explain an
employee’s accident that resulted in permanent dis-
ability or death. A monetary loss is atemporary matter,
often regained through better control. There is no way
to regain human losses resulting from accidents.

According to the passage, employee’s accidents

1) can be unrecoverable 2) can be avoided simply

3) lead to monetary loss 4) always lead to permanent disability or death
Loss control is concerned with :

1) damaging property 2) avoiding preventable waste

3) health and occupational illness 4) creating fire and explosions



20.

21.

22.

23.

24.

T dxae (\YOA o5) amaiti ;bj

PASSAGE IIT :

CRUDE OIL QUALITY PROBLEM

Efficient transport of crude oil from wellhead to
refinery necessarily increases quality variation.
Because most producing fields are not large enough to
justify segregated collection systems, and because oil-
producing regions are rather distant from consuming
regions, an elaborate infrastructure is required to effi-
ciently move the oil to markets and end-user refiners.
This infrastructure includes gathering and collection
systems near the producing site, trunk pipeline sys-
tems, large waterborne vessels, storage tanks and off-
shore oil ports

Which of the following statements is correct about “transport of cruel oil from wellhead to a
refinery”.

1) independent collection system is justified

2) isolated collection system is practical

3) separate collection system is usually unreasonable

4) collection system increases the quality variation of cruel oil

In this passage “an elaborate infrastructure needed to tramsport oil” includes which of the
following answers :

1) Vessels that are supported or carried by water.  2) Ports situated in oil fields.

3) Tanks used to store water. 4) Pipelines made from trunk.

PASSAGE IV :

alling North American domestic gas production and grow-
mgdemznd fnrmmralgns ['NG}h:.m: mthcpastﬁv:yurs
fueled capacity expansions at the four existing liquefied
natural gas (LNG) receiving and regasification terminals onshore
the Lower 48 states, Fifty applications for approval to build new
terminals in the US, Canada and Mexico have been submitted
to regulatory authorities as well. The US has traditionally sup-

plied its NG markets predominantly from domestic production,
supplﬂncnted by mgnlﬁmn: pip-dmc import contributions from
Canada. However, growing LNG import contributions from
several countries around the world now play an importarit role
and this will grow rapidly over the coming decade. NG accounts
for about 25% of all the energy consumed in Canada and the US,
making it an energy source of high strategic importance.

fueled means :

1) fined 2) caused 3) emerged 4) expanded
Degasification terminal means a place to :

1) repeat gasification 2) convert LNG to NG

3) convert NG to LNG 4) gasified again and again

U.S. supplements mainly its NG demand by importing from :

1) Canada 2) Mexico

3) Canada and Mexico 4) rapidly growing countries



¥ dzso
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25. One fourth of the energy demand of is from natural gas.
1) Canada 2) the U.S.
3) North America 4) Canada & the U.S.
PASSAGE V :

A fluid 15 a substance that does not permanently resist distortion.
An attempt to change the shape of a mass of fluid results in layers of fluid sliding over
one another until a new shape is attained. During the change in shape, shear stresses
mst, the magnitudes of which depend upon the viscosity of the fluid and the rate of
sliding, but when a final shape has been reached, all shear stresses will have dis-
appeared. A fluid in equilibrium is free from shear stresses.%

A At a given temperature and pressure, a fluid possesses a definite density, which
in engineering practice is usually measured in pounds per cubic foot or kilograms per
cubic meter. Although the density of a fluid depends on temperature and pressure,
the variation of density with changes in these variables may be large or small. If the
density is but little affected by moderate changes in temperature and pressure, the
fluid is said to be incompressible, and if the density is sensitive to changes in these
variables, the fluid is said to be compressible. Liquids are considered to be incom-
pressible and gases compressible. The terms are relative, however, and the density
of a liquid can change appreciably if-pressure and temperature are changed over wide
limits. Also, gases subjected to small percentage changes in pressure and temperature
act as incompressible fluids, and density changes under such conditions may be
neglected without serious error.

26. From the text, it can be understood that the error in the density changes of a fluid is -
when gases are said to be incompressible.
1) trivial 2) serious 3) critical 4) unworthy

27. From the text, it can be understood that a fluid is said to be incompressible when moderate
changes in temperature and pressure

1) affect only liquids 2) are affected little by density

3) influence its density considerably 4) produce little effect on its density
28. According to the text, of which here refers to ?

1) the magnitude of stresses 2) shear stresses

3) the change in shape 4) the flexibility of shear stresses
29. What causes the layers of the fluid to slide are over another?

1) a new shape desired 2) a resistance to distortion

3) the existence of shear stresses 4) an alteration in the shape of the mass of fluid
30. In the last sentence of this passage the word conditions refers to -—-------—---,

1) subjected gases

2) gases acting as incompressible fluids

3) density changes

4) slight changes in temperature and pressure
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